
(3 Hours)

(1) Question I is cornPulsory.

(2) Atternpt any three from the remaining questions'

(3) Draw neat diagrams wherever nesessary.

;system.

e) Draw the Data Flow Graph for the following

ry
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Paper / Subject Code: 88961/ Embedded System and RTOS

j...
{., .i.

iO*t*l C","par" ttact Uox and white box tcstrng. Exptain any one On Chip Debuggrng

feghnique

Q 6. Write a short note tln tny 2 
,r...,

p) Watch f)og Timer

b) Seqsors & Acluatgrs, uled in Embedded Syslem

c) PrioritY Ceiling ProJocoi
'd) 

12C Cotnmunication Protocol'

e) OSTaskCreate( ).OSSernCreate( )'OSFlagPost( )'OSInit( )
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Paper / SubJect uocle:

TE, SE{nIt I

uuyoz i uomputer Lommuntcauon NetworKs

(3 Hours) [Total Marks:80]

1) Question No. l Compulsory.
2'l Attempt any three from the remaining questions.
3) Assume suitable data wherever necessary: :: . . ',

Answer any FOUR )

a) Explain different types of network addresses.

b) Compare TCP and UDP.

c) List the categories of UTP cables. How is iioise interfefenee
minimized in twisted pair,cablesS , .. .; .:_- . ,r, .. .,qld) Distinguish between synchro'nous andstatisti'calTDM..

e) What is sub netting? List advantages and disadvantages of the same.

Explain Different ARQ techniques, Also explain the maximum window size for
each with justification.
What is piggybacking? Give and example of Piggybacked frame.
ketch the appropriate HDLC frames for the following scenario involving
Primary station 'A' and two Secondary stations B and C.

1. Primary station A wishes to establish a Normal Response mode link
with Secondary stations B and C.

2. Both the stations B and C , send positive ackowledgements to A.

3.Station A sends a polling command to B and B sends 4 data frames.

The thir.d frame is lost during transmission.
4. Assuming Selective repeat ARQ, station A sends negative
acknow-ledgernent to station B.

5 ; Station.'B,f esends the frb me.and A, se nd,S poslti-Ve a ckn owled ge m e nt.
6. Station A now polts station C and station C responds with ready

response. A sends three data frames to C and C sends positive

acknowledgement to indicate the receipt of error free data frames.

Differentiate between lPv4 and lPv6. ExplainTunneling. Determine the class

and network address for the following lP addresses(Assuming subnetting is

1). 84,42.s8.11'2). 1es.38,14.13 3). 1,44.62,12.e

Whatismeantby.blocking'incircuitswitchingnetworks?Bringoutthe
advantages of multi stage space division switching over single stage
sw[tching. (1). Sketch the three stage Space Division switch with N=15, groqp

size of n=5, k=2. What is the condition required to make it non blocking?
(2). For the same specifications sketch three stage TST switch using TSI

modules.

Oraw Ost reter,ence model and explain function of each layer. Name the
layers responsible for (1). end to end reliability (2). link to link reliability.
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raper/SuDJectLooe:UUyoZ/LomputerUommunlcauonNetworl(s

Define the utitization or efficiency of the line and derive the expression for

;;;;;;;i, tio*.on,rot. catcutate the maximum tink utitization forrhe

following cases:-

1. Stop and wait flow control

Z. Sliiing window flow control with window sizes of 4 and 7 '

Link specifications:

Velocityofpropagation=2X108m/sec ' : r'

Apply Dijkstra's and Bellman Ford algorithm to the given network and find

tfre fe.si cost path between source node 1to all other nodes'

Y

Draw and Explain ice header format with the help of a neat diagram'

Write short note on:( AnY TWO)

a) Congestion control techniques

10

10

L,
10

20

c) ComPare lPv4 and lPv6

di ' es$riA/cDr -"';r ,: r: i'
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I
raper / Subject Code: 88963 / VLSI Design

. (?0)
(a)
(b) , ,:(5),

. :r(S)

3l E=rRx *S.zot>[ /.fuice bo"fi,
(3 Hours)

Solve any 4 of the
Draw and explain

following; r,,'.,
AND gate using pass transistorlbgic

Implement Y: (A+B.C) using dynamic CMOS logic.

(c)
(d)
(e)

(a)
(b)

i ! .,41

:it. ' ,. .:,]. 
'

r$)
(5)
(s)

(a)

(b)

(a)

(10)
(10)

(10)

(10)

(10)

I
t2

: .;. .:r.

tliiesh-dldlf the inverter. The power

Explain advantages of using

its operation.

(10)

(10)
(10)

(20)
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faper/ Subject Code: 88964 / Signals & Systems
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raper / DuDJeer Looe: udyo4 I srgnars 6r Dyslems

fr+s{p+4y(t) = qP

Assume that initial conditions of the system are
x(t): e-2t u(t)

,]
Obtain the exponential form of the Fourier series rapresentation of the signal s.hown
following signal:

x(t

U

0

Determine the FT of the pbriodic'impulse function shown in figure. (10)

(10)
\<_

(0s)
(0s)

(0s)

(0s)

x(t

A
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(1) Question No.l. is compulsory. -. i ''.'',.,, .' . ':'.. , 'r'. .'i-:':,1: :j,^
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d. State clearly the limitations,and, advantagps ,of ;the Spiral model in" , 05

e. What is the difference between active and passiv. .o*p*ent.

. -:.i

'05

Q.2 a. Design the front panel of a function generator by takiug: ,care of 10
ergonomics and aelEth.etie.'degign-,c.onsidgrations. :^, . l :t,
Explain the cor-rcepf,of ebu$1$ii$'an'd-co"hesidn.'- "::.:. '.'r ,-', ,.r,.-" ,,'1;i; '

Exp l ain the V' G, ypl er rno de l.Wi th all th9 steps. ano grop er .j usti-filation.

-lv\[hpt ,is:{he .fole'of characterization in case of debugging and 10
troubleshooting?

Q.1

b. l0

10

10

Q.3 a.

b.

b. Explain how mapping of functions to hardware is done in architectural 10

.-,,
'.'a{ ,-, Wiip ,,. the ,.,,'iheokfi,st;, 

'!or1, 
' deyeloping effective Manuals for the l 0

. international Market.
.How,to,handle EIVfl/:EMC' lssues in an Electronic Product?

, 
"Ery,lg tndneedof ESD Protection in PCB Designing.

05
05

{tite shortrnote on (any'four)
a. : Different"eroundine meth

;,,, bj , 'NebO of Pio.tbityiiitrg

.;,':1.q1i: ;Blacl< box"testing and white box testing

0s
05

05

05

05
':,,,d.. 

.pi1'1-rent.typ,es qf termination methods used in PCB designing

, i;ii,'.:'.,,Dif.fofent soft ware model s with adv antage and di s advantage
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Paper / Subject Code: 88967 / Elective - II Wireless Communication

TE L E-TRX, Se-.*. !I Lhoi c-e- BaseJ fp uo c-)

Time:3 Hrs
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Marks:80

N.B.
1) Question number ONE is compulsory.
2) Attempt any THREE questions from remaining questions.
3) All questions carry equal marks.

]

a) Compare Microcell, Metrocell, Picocell, Femtocell and WiFi in terms of cell radius, power level
in watts and number of users. 5

b) Differentiate between CDMA, TDMA and FDMA 5

c) Explain services and features of GSM '\,-i- 5

e) Explain mobility and resource management i, 5

Q2 a) Consider a cellular system in which the total available voice channels to handle traffic
are 480. The area of each cell is 5 sq.km. and the total coverage area of the system is

103000 sq.km.
1) For the cluster size of 7 , find the no. of channels per cell, no. of clusters, and the

system capacity.
2) For the cluster size of 4, repeat the above calculations.
3) Comment on result.

b) Explain different channel assignment strategies in cellular system. 10

Q3 a) What is Huygen's principle of diffraction? Explain Knife --edge Diffraction Model. 10

b) Explain tlpes of Small scale Fading based on multipath time delay spread. 10

Q4 a) Draw a well labelled diagram and explain in detail the architecture of GSM. 10

b),Explain the terms related to GSM 10

1. Diagonal Interleaving 2. Ciphering 3. SIM 4. IMSI Number 5. SMS

Q5 a) Explain IS 95 forward and reverse channels. 10

10b) Explain UMTS network architecture in detail with interfaces

Write short notes on following

a) Factors influencing Small Scale fading
b) DSSS and FHSS
c) Erlang B and Erlang C system

d) CDMA 2000

20
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suitable data, wherever necessary'

(10)

(10)
cache memory mappingtechniqueS with an exarnple

the advanlagigs qf'Pi

and their solutions; Gi+e oi?n-riiles

in in detailhardrt'ii0d'control: Disclss any'one methtrd'to 'iinplement 
it'

afffirrrtiuittr;rs'i ipnfi*'i,;rliTti cessing svstems'

e-forttre ,execution of SUB Rl, (R2) instruction'
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(10)

(10)

nlain oase rpnlaoernent algorithrn also find out:page faults, page hit, hit ratio for the

ffiffi?,[ffi;-tre nifO'rira t{U'no9th_od.-Considor:page frame size = 3'
- 
i,,?,:{ 9-.,'5- j .8 5 3 3 I 2 4'8 1 4' .

in de:tail, differpnt types of buses and methods of arbitration'

:

i ::1. . :, -'): .,- .:. ..-i'- .-.". ...; ,-:, .' I l : ,, ..

in detait, characteristios;oiRtSC'arrd'CISC
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(20)


